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4.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships?

What is the mass in grams of 1 mole of Li.

6Li: 6.015 amu 7.42%
7Li: 7.016 amu 92.58%
N =6.0221x1022 mol-" 1 amu = 1.6606x1024g
1 dom: 0.0142 (6.05) + 0.9258 (1.016) = /6.9417 am/
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4.3

What Is a Mole and How Do We Use It to Calculate Mass Relationships.

Molar Mass ... (Formula Weight)
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4.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.

Example 1
.\
a) How many ATOMS of fluorine are present in 3.30 moles o@
b) How many MOLES of fluorine are present in 3.09x1022 molecules of BF,
Nz 6.003¥10°
Q) 330 mo&,B\:il 3F - Q%O mdF
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b) 309Y 0" goog&e; BF:;‘ 1 mol = 0.0513 mol BF4
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5.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.
Example 2

[ How many MOLES re present in 5.41 grams of this compound ?

water are
B * O: |16.0 H: 1.0
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4.3 What Is a Mole and How Do We Use It to Calculate Mass Relationships.

Example 3

’ How manv Grams of ethanol I(CH_C
J T F AT IS WP N el TRATN W ‘v"

Pt of ¢
compound ?

B a) 46 C:12.0l
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CH4CHaOH = 2lc) +6(H) + O
2(12.0) + 6(1.0) + 16.00 = 46.08 g. mal™!
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4.4 How Do We Balance Chemical Equations?
Example 1

Balance the following chemical equation:

H.

A _Fe,0s(s)+ 3 C(s) - A Fe(s)+ 3 COy(g)
Reactants Y Products | v
Fe 2 2 4 4 4 Fe | 2 2 4 4
O 33 ¢ 6 6 O 2 2 6 6 6
C 11 | | 3 c 1 1 3 3 3

A Fey03(5) + 3C) = YF(s) + 3029
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